

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
	Final Fire Inspection	3/27/2014	C.Hill	3/27/2014 15:36	Approved	Completed
	Final Fire Inspection			3/27/2014 12:27	Approved	Completed
	Final Structural	3/20/2014	B.Gilgus	3/20/2014 12:53	Approved	Completed
	Ceiling / Act	3/11/2014	D.Blackburn	3/11/2014 15:05	Approved	Completed
i	Final Electrical	4/28/2014	O.Burbridge	4/28/2014 15:21	Approved	Completed
·	Final Electrical	3/20/2014	D.Rooney	3/20/2014 16:28	Correction	Completed
'	Ceiling Rough Electrical	3/11/2014	D.Rooney	3/11/2014 14:35	Partial	Completed
	Refrigeration Rough	2/27/2014	G.Hile	2/27/2014 9:45	Approved	Completed
	Final Plumbing	4/9/2014	C.Thompson	4/9/2014 8:44	Approved	Completed

Number of Paid Inspections:	9	\$	150.00	\$1,350.00
Number of 1/2 Hour inspections:	4.5	\$	75.00	-\$337.50
Number of Inspections Paid but not Completed:	0	-\$	150.00	\$0.00
		Tota	al Refund:	-\$337.50

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Structural	6/15/2015	J.Stubbs	6/15/2015 9:55	Approved	Completed
2	Final Fire Inspection	6/15/2015	B.Dean	6/15/2015 9:26	Approved	Completed
3	Ceiling / Act	5/15/2015	J.Stubbs	5/15/2015 9:30	Approved	Completed
4	Ceiling / Act	3/16/2015	D.Blackburn	3/16/2015 10:28	Approved	Completed
5	Framing	2/24/2015	D.Blackburn	2/24/2015 13:00	Approved	Completed
6	Ceiling / Act	1/30/2015	D.Blackburn	1/30/2015 9:59	Partial	Completed
7	Framing	12/22/2014	B.Gilgus	12/22/2014 10:30	Approved	Completed
8	Final Electrical	6/8/2015	D.Rooney	6/8/2015 9:11	Approved	Completed
9	Final Electrical	6/4/2015	D.Rooney	6/4/2015 10:27	Correction	Completed
10	Electrical Rough	5/15/2015	V.Fosberg	5/15/2015 8:35	Partial	Completed
11	Electrical Rough	4/24/2015	V.Fosberg	4/24/2015 10:11	Partial	Completed
12	Electrical Rough	3/25/2015	D.Rooney	3/25/2015 9:22	Partial	Completed
13	Electrical Rough	3/12/2015	D.Rooney	3/12/2015 12:53	Partial	Completed
14	Final Electrical	2/2/2015	O.Burbridge	2/2/2015 13:14	Partial	Completed
15	Electrical Rough	1/30/2015	D.Rooney	1/30/2015 16:54	Correction	Completed
16	Electrical Rough	1/27/2015	O.Burbridge	1/28/2015 8:53	Partial	Completed
17	Electrical Rough	12/22/2014	V.Fosberg	12/22/2014 15:49	Partial	Completed
18	Final Mechanical	5/14/2015	Y.Dovba	5/14/2015 10:06	Approved	Completed
	Mechanical Rough	5/14/2015	Y.Dovba	5/14/2015 9:07	Approved	Completed
19	Mechanical Rough	5/13/2015	Y.Dovba	5/13/2015 8:57	Partial	Completed
20	Mechanical Rough	5/7/2015	Y.Dovba	5/7/2015 10:24	Partial	Completed
21	Hood and Duct Fire System Final	5/1/2015	E.Huckaba	5/1/2015 9:17	Partial	Completed
22	Refrigeration Rough	4/1/2015	C.Thompson	4/1/2015 8:25	Partial	Completed
23	Mechanical Rough	3/27/2015	E.Huckaba	3/27/2015 10:58	Partial	Completed
24	Refrigeration Rough	2/4/2015	J.Gadomski	2/5/2015 8:16	Partial	Completed
25	Mechanical Rough	1/29/2015	J.Gadomski	1/29/2015 13:26	Partial	Completed
26	Final Plumbing	6/12/2015	K.Hanson	6/12/2015 8:02	Approved	Completed
	Gas PipIng	5/1/2015	E.Huckaba	5/1/2015 7:35	Partial	Completed
27	Plumbing Rough	4/8/2015	J.Gadomski	4/8/2015 9:37	Partial	Completed
28	Plumbing Rough	2/24/2015	J.Gadomski	2/24/2015 10:13	Partial	Completed
	Final Plumbing	1/29/2015	J.Gadomski	1/29/2015 13:27	Partial	Completed
29	Plumbing Rough	12/19/2014	J.Gadomski	12/19/2014 10:27	Partial	Completed
30[Underground Plumbing	12/4/2014	J.Gadomski	12/4/2014 10:40	Partial	Completed

Number of Paid Inspections:	31	\$	150.00	\$4,650.00
Number of 1/2 Hour Inspections:	15	\$	75.00	-\$1,125.00
Number of Inspections Paid but not Completed:	1	-\$	150.00	-\$150.00
		Tota	l Refund:	-\$1,275.00

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Fire Inspection	5/1/2014		5/1/2014 15:03	Approved	Completed
2	Final Structural	5/1/2014	D.Blackburn	5/1/2014 13:45	Approved	Completed
3	Framing	3/17/2014	D.Hickel	3/17/2014 9:47	Approved	Completed
4	Final Electrical	4/22/2014	O.Burbridge	4/22/2014 10:46	Approved	Completed
5	Ceiling Rough Electrical	4/15/2014	O.Burbridge	4/15/2014 16:20	Partial	Completed
6	Ceiling Rough Electrical	4/14/2014	O.Burbridge	4/14/2014 15:24	Partial	Completed
	Ceiling Rough Electrical	4/11/2014	O.Burbridge	4/11/2014 16:13	Cancel	Completed
7	Electrical Rough	3/18/2014	D.Rooney	3/18/2014 14:35	Partial	Completed
В	Electrical Rough	3/17/2014	O.Burbridge	3/17/2014 14:11	Correction	Completed

Number of Paid Inspections:	13	\$	150.00	\$1,950.00
Number of 1/2 Hour Inspections:	4	\$	75.00	-\$300.00
Number of Inspections Paid but not Completed:	5	-\$	150.00	-\$750.00
		Tota	l Refund:	-\$1,050.00

.

refunded 5

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Fire Inspection	5/2/2014	R.Venta	5/2/2014 12:23	Approved	Completed
2	Final Fire Inspection	4/15/2014	C.Hill	4/15/2014 15:21	Partial	Completed
3	Final Structural	4/15/2014	P.Calhoun	4/15/2014 13:49	Approved	Completed
4	Ceiling / Act	4/10/2014	P.Calhoun	4/10/2014 10:58	Approved	Completed
5	Framing	3/19/2014	P.Calhoun	3/19/2014 15:08	Approved	Completed
6	Framing	3/14/2014	P.Calhoun	3/14/2014 13:17	Partial	Completed
7[Final Plumbing	4/11/2014	C.Thompson	4/11/2014 10:21	Approved	Completed
8	Plumbing Rough	3/24/2014	M.Gifford	3/24/2014 9:25	Approved	Completed
9	Final Electrical	4/30/2014	O.Burbridge	4/30/2014 15:45	Approved	Completed
10	Electrical Rough	4/14/2014	O.Burbridge	4/14/2014 15:23	Partial	Completed
11[Electrical Rough	4/11/2014	O.Burbridge	4/11/2014 16:13	Partial	Completed
12	Electrical Rough	3/19/2014	O.Burbridge	3/19/2014 15:57	Partial	Completed
13	Electrical Rough	3/14/2014	O.Burbridge	3/14/2014 12:36	Partial	Completed
14	Final Mechanical	4/9/2014	M.Gifford	4/9/2014 10:17	Approved	Completed

Number of Paid Inspections:	14	\$	150.00	\$2,100.00
Number of 1/2 Hour Inspections:	7	\$	75.00	-\$525.00
Number of Inspections Paid but not Completed:	0	-\$	150.00	\$0.00
		Tota	l Refund:	-\$525.00

Ē	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Structural			4/17/2014 0:00	Approved	Completed
2	Temp Electric	4/11/2014	D.Rooney	4/11/2014 16:05	Cancel	Completed
3	Final Structural	4/11/2014	D.Blackburn	4/11/2014 15:30	Partial	Completed
4	Final Fire Inspection	4/12/2014		4/11/2014 14:38	Approved	Completed
5	Other Structural	4/10/2014	D.Blackburn	4/10/2014 15:18	Partial	Completed

Number of Paid Inspections:	12	\$	150.00	\$1,800.00
Number of 1/2 Hour inspections:	2.5	\$	75.00	-\$187.50
Number of Inspections Paid but not Completed:	7	-\$	150.00	-\$1,050.00
		Tota	l Refund:	-\$1,237.50

.

M13-1899

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Fire Inspection	4/24/2014	B.Dean	4/25/2014 16:58	Approved	Completed
2	Final Structural	4/24/2014	P.Calhoun	4/24/2014 10:22	Approved	Completed

		Tota	al Refund:	-\$1,050.00
Number of Inspections Paid but not Completed:	6	-\$	150.00	-\$900.00
Number of 1/2 Hour Inspections:	2	\$	75.00	-\$150.00
Number of Paid Inspections:	8	\$	150.00	\$1,200.00

not CO'd

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Structural	5/7/2014	J.Stubbs	5/7/2014 15:09	Approved	Completed
2[Final Fire Inspection	4/24/2014	R.Venta	4/25/2014 9:40	Approved	Completed
3	Final Structural	4/24/2014	B.Gilgus	4/24/2014 11:43	Partial	Completed
4	Ceiling / Act	4/17/2014	B.Gilgus	4/17/2014 9:01	Partial	Completed
5	Framing	4/7/2014	D.Blackburn	4/7/2014 13:24	Approved	Completed
6	Final Electrical	4/23/2014	D.Rooney	4/23/2014 14:56	Approved	Completed
7	Electrical Rough	4/16/2014	D.Rooney	4/16/2014 13:23	Partial	Completed
8	Final Mechanical	4/23/2014	C.Thompson	4/23/2014 15:51	Approved	Completed
9	Final Mechanical	4/17/2014	M.Gifford	4/18/2014 10:40	Correction	Completed
	Final Plumbing	4/23/2014	C.Thompson	4/23/2014 13:53	Approved	Completed
10[Plumbing Rough	4/7/2014	J.Gadomski	4/7/2014 8:55	Partial	Completed

Number of Paid Inspections:	10	\$	150.00	\$1,500.00
Number of 1/2 Hour Inspections:	5	\$	75.00	-\$375.00
Number of Inspections Paid but not Completed:	0	-\$	150.00	\$0.00
		Tota	al Refund:	-\$375.00

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Fire Inspection	8/6/2014	C.Torrey	8/6/2014 8:07	Approved	Completed
2	Final Structural	7/25/2014	J.Stubbs	7/25/2014 14:15	Approved	Completed
	Final Fire Inspection	7/24/2014	С.Тогтеу	7/25/2014 9:19	NA	Completed
3	Final Fire Inspection	7/24/2014	C.Torrey	7/25/2014 9:18	Partial	Completed
4	Other Structural	7/2/2014	J.Stubbs	7/2/2014 12:51	Partial	Completed
5	Other Structural	6/27/2014	J.Stubbs	6/27/2014 13:27	Partial	Completed
6	Other Structural	6/23/2014	J.Stubbs	6/23/2014 10:52	Partial	Completed
7	Framing	5/7/2014	J.Stubbs	5/7/2014 15:11	Partial	Completed
8	Final Electrical	8/5/2014	D.Rooney	8/5/2014 10:41	Approved	Completed
9	Final Electrical	7/24/2014	D.Rooney	7/24/2014 15:24	Partial	Completed
10	Ceiling Rough Electrical	7/9/2014	D.Rooney	7/9/2014 9:57	Partial	Completed
11	Ceiling Rough Electrical	7/1/2014	D.Rooney	7/1/2014 11:45	Partial	Completed
12	Ceiling Rough Electrical	6/18/2014	D.Rooney	6/18/2014 16:22	Partial	Completed
13	Wall Rough Electrical	5/20/2014	D.Rooney	5/20/2014 14:07	Partial	Completed
14	Wall Rough Electrical	5/8/2014	D.Rooney	5/8/2014 15:40	Partial	Completed
15	Final Plumbing	7/28/2014	C.Thompson	7/29/2014 8:01	Approved	Completed
16	Plumbing Rough	7/23/2014	C.Thompson	7/23/2014 15:07	Approved	Completed
17[Plumbing Rough	6/4/2014	M.Gifford	6/4/2014 12:16	Correction	Completed
18	Plumbing Rough	6/3/2014	J.Gadomski	6/3/2014 7:35	Partial	Completed
19	Plumbing Rough	5/13/2014	J.Gadomski	5/13/2014 7:58	Partial	Completed
20[Final Mechanical	7/14/2014	C.Thompson	7/14/2014 7:59	Approved	Completed
21	Final Mechanical	7/3/2014	J.Gadomski	7/3/2014 10:08	Partial	Completed
22[Mechanical Rough	6/27/2014	M.Gifford	6/27/2014 8:48	Partial	Completed
	Mechanical Rough	6/3/2014	J.Gadomski	6/3/2014 7:48	Partial	Completed
23[Mechanical Rough	5/16/2014	J.Gadomski	5/16/2014 7:36	Partial	Completed

Number of Paid Inspections:	24	\$	150.00	\$3,600.00
Number of 1/2 Hour Inspections:	11.5	\$	75.00	-\$862.50
Number of Inspections Paid but not Completed:	1	-\$	150.00	-\$150.00
		Tota	l Refund:	-\$1,012.50

1000	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Fire Inspection	4/25/2014	B.Dean	4/25/2014 13:42	Approved	Completed
2	Final Structural	4/25/2014	P.Calhoun	4/25/2014 11:22	Approved	Completed
3	Final Fire Inspection	4/23/2014	B.Dean	4/23/2014 16:54	Correction	Completed
4	Framing	4/15/2014	P.Calhourt	4/15/2014 13:22	Approved	Completed
5	Electrical Rough	4/23/2014	O.Burbridge	4/23/2014 16:18	Approved	Completed
ŝ	Electrical Rough	4/15/2014	O.Burbridge	4/15/2014 16:20	Partial	Completed
7	Final Mechanical	4/21/2014	M.Gifford	4/21/2014 15:34	Approved	Completed

Number of Paid inspections:	7	\$	150.00	\$1,050.00
Number of 1/2 Hour Inspections:	3.5	\$	75.00	-\$262.50
Number of Inspections Paid but not Completed:	0	-\$	150.00	\$0.00
	200	Tota	-\$262.50	

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Structural	11/26/2014	M.Barnhill	11/26/2014 15:56	Approved	Completed
2	Final Fire Inspection	11/26/2014		11/26/2014 15:54	Approved	Completed
3	Final Structural	10/24/2014	P.Calhoun	10/24/2014 16:43	Partial	Completed
4	Final Fire Inspection	10/23/2014		10/23/2014 16:17	Partial	Completed
5	Final Structural	10/23/2014	P.Calhoun	10/23/2014 13:04	Correction	Completed
6	Ceiling / Act	9/30/2014	D.Blackburn	9/30/2014 12:30	Approved	Completed
7[Ceiling / Act	9/26/2014	P.Calhoun	9/26/2014 16:25	Correction	Completed
8	Framing	7/23/2014	D.Blackburn	7/23/2014 14:34	Partial	Completed
9	Final Mechanical	10/24/2014	J.Gadomski	10/24/2014 8:37	Approved	Completed
10	Final Mechanical	9/29/2014	J.Gadomski	9/29/2014 8:36	Partial	Completed
[Final Plumbing	10/23/2014	J.Gadomski	10/24/2014 8:38	Approved	Completed
11	Final Electrical	10/27/2014	D.Rooney	10/27/2014 10:26	Approved	Completed
12	Final Electrical	10/22/2014	O.Burbridge	10/22/2014 17:02	Correction	Completed
13	Final Electrical	10/10/2014	O.Burbridge	10/10/2014 13:30	Partial	Completed
14	Ceiling Rough Electrical	9/29/2014	O.Burbridge	9/29/2014 13:11	Partial	Completed
15	Ceiling Rough Electrical	9/26/2014	O.Burbridge	9/26/2014 13:54	Partial	Completed
16	Wall Rough Electrical	7/16/2014	O.Burbridge	7/16/2014 13:13	Partial	Completed

Number of Paid Inspections:	15	\$	150.00	\$2,250.00
Number of 1/2 Hour Inspections:	8	\$	75.00	-\$600.00
Number of Inspections Paid but not Completed:	-1	-\$	150.00	\$150.00
		Tota	l Refund:	-\$450.00

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Structural	9/18/2014	J.Stubbs	9/19/2014 11:25	Approved	Completed
2	Final Fire Inspection	9/19/2014	C.Torrey	9/19/2014 0:00	Approved	Completed
3	Final Structural	8/26/2014	D.Blackburn	8/26/2014 15:05	Partial	Completed
- 4	Final Fire Inspection	8/26/2014	C.Torrey	8/26/2014 14:02	Correction	Completed
5	Ceiling / Act	8/21/2014	P.Calhoun	8/21/2014 16:25	Correction	Completed
6	Seismic Bracing			8/20/2014 14:42	Partial	Completed
7	Seismic Bracing	8/20/2014	P.Calhoun	8/20/2014 14:18	Correction	Completed
8	Framing	7/28/2014	D.Blackburn	7/28/2014 8:53	Approved	Completed
9	Final Electrical	9/12/2014	O.Burbridge	9/12/2014 12:27	Approved	Completed
10	Final Electrical	8/26/2014	O.Burbridge	8/26/2014 16:34	Correction	Completed
11	Electrical Rough	8/21/2014	O.Burbridge	8/21/2014 16:23	Partial	Completed
12	Electrical Rough	8/20/2014	O.Burbridge	8/20/2014 15:15	Partial	Completed
13	Electrical Rough	8/14/2014	O.Burbridge	8/14/2014 17:02	Partial	Completed
14	Electrical Rough	8/12/2014	O.Burbridge	8/12/2014 11:11	Partial	Completed
15	Wall Rough Electrical	7/25/2014	O.Burbridge	7/25/2014 13:33	Partial	Completed
16	Final Plumbing	8/22/2014	C.Thompson	8/25/2014 15:08	Approved	Completed
17	Plumbing Rough	7/29/2014	J.Gadomski	7/29/2014 14:01	Correction	Completed

Number of Paid Inspections:	18	\$	150.00	\$2,700.00
Number of 1/2 Hour Inspections:	8.5	\$	75.00	-\$637.50
Number of Inspections Paid but not Completed:	1	-\$	150.00	-\$150.00
		Tota	al Refund:	-\$787.50

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Framing	11/5/2014	D.Blackburn	11/5/2014 9:56	Approved	Completed
2	Final Structural	9/4/2014	J.Stubbs	9/4/2014 14:54	Approved	Completed
3	Framing	9/2/2014	J.Stubbs	9/2/2014 12:21	Partial	Completed
4	Framing	8/29/2014	D.Blackburn	8/29/2014 10:13	Partial	Completed

Number of Paid Inspections:	4	\$	150.00	\$600.00
Number of 1/2 Hour Inspections:	2	\$	75.00	-\$150.00
Number of Inspections Paid but not Completed:	0	-\$	150.00	\$0.00
			l Refund:	-\$150.00

Not CO'd

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Structural			1/15/2015 0:00	Approved	Completed
2	Final Structural	1/8/2015	J.Stubbs	1/9/2015 8:09	Partial	Completed
3	Final Fire Inspection	1/8/2015	C.Torrey	1/8/2015 7:19	Partial	Completed
4	Other Structural	12/31/2014	P.Calhoun	12/31/2014 9:14	Partial	Completed
5	FireStopping	12/5/2014	J.Stubbs	12/5/2014 16:02	Partial	Completed
6	FireStopping	12/1/2014	J.Stubbs	12/1/2014 12:05	Partial	Completed
7	Final Structural	11/24/2014	J.Stubbs	11/24/2014 11:02	Partial	Completed
8	Other Structural	11/17/2014	J.Stubbs	11/18/2014 9:02	Partial	Completed
9	Framing	11/10/2014	P.Calhoun	11/10/2014 12:08	Partial	Completed
10	S.A.Fireproofing	11/5/2014	J.Stubbs	11/5/2014 12:28	Partial	Completed
11	Framing	11/3/2014	J.Stubbs	11/3/2014 10:05	Partial	Completed
12	Framing	10/30/2014	P.Calhoun	10/30/2014 12:51	Partial	Completed
13	Final Electrical	1/16/2015	D.Rooney	1/16/2015 14:43	Approved	Completed
14	Final Electrical	1/7/2015	M.Green	1/8/2015 16:33	Partial	Completed
15	Ceiling Rough Electrical	12/24/2014	V.Fosberg	12/24/2014 14:14	Partial	Completed
16	Final Electrical	12/17/2014	V.Fosberg	12/17/2014 8:17	Partial	Completed
17	Ceiling Rough Electrical	12/12/2014	D.Rooney	12/12/2014 17:23	Partial	Completed
18	Ceiling Rough Electrical	11/17/2014	O.Burbridge	11/17/2014 9:58	Partial	Completed
19	Ceiling Rough Electrical	11/14/2014	D.Rooney	11/14/2014 16:43	Partial	Completed
20	Wall Rough Electrical	11/4/2014	M.Green	11/4/2014 15:11	Partial	Completed
21	Wall Rough Electrical	10/29/2014	D.Rooney	10/29/2014 16:22	Partial	Completed
22	Electrical Rough	10/24/2014	D.Rooney	10/24/2014 16:54	Partial	Completed
23	Electrical Rough	10/21/2014	D.Rooney	10/21/2014 16:27	Partial	Completed
24	Electrical Rough	10/2/2014	V.Fosberg	10/2/2014 10:19	Partial	Completed
25	Final Mechanical	12/19/2014	Y.Dovba	12/19/2014 8:07	Approved	Completed
26	Mechanical Rough	12/10/2014	Y.Dovba	12/10/2014 10:39	Partial	Completed
27	Mechanical Rough	11/13/2014	C.Thompson	11/13/2014 14:31	Approved	Completed
28	Mechanical Rough	11/4/2014	C.Thompson	11/4/2014 8:00	Approved	Completed
29	final Plumbing			12/22/2014 0:00	Approved	Completed

Number of Paid Inspections:	33	\$	150.00	\$4,950.00
Number of 1/2 Hour Inspections:	14.5	\$	75.00	-\$1,087.50
Number of Inspections Paid but not Completed:	4	-\$	150.00	-\$600.00
		Tota	l Refund:	-\$1,687.50

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Fire Inspection	9/4/2014	C.Torrey	9/4/2014 15:42	Approved	Completed
2[Final Structural	9/4/2014	D.Blackburn	9/4/2014 11:47	Approved	Completed
3[Ceiling / Act	8/19/2014	P.Calhoun	8/20/2014 10:04	Partial	Completed
4	Framing	7/30/2014	M.Barnhill	7/30/2014 15:24	Approved	Completed
5[Final Mechanical	8/5/2014	J.Gadomski	8/5/2014 8:58	Approved	Completed
6	Final Plumbing	8/21/2014	R.Larson	8/21/2014 15:54	Approved	Completed
7[Plumbing Rough	8/6/2014	J.Gadomski	8/6/2014 13:17	Partial	Completed
8	Final Electrical	8/26/2014	O.Burbridge	8/26/2014 16:25	Approved	Completed
9[Electrical Rough	8/7/2014	O.Burbridge	8/7/2014 13:52	Partial	Completed
10	Electrical Rough	7/29/2014	O.Burbridge	7/29/2014 11:29	Partial	Completed

Number of Paid Inspections:	11	\$	150.00	\$1,650.00
Number of 1/2 Hour Inspections:	5	\$	75.00	-\$375.00
Number of Inspections Paid but not Completed:	1	-\$	150.00	-\$150.00
		Tota	l Refund:	-\$525.00

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Structural	8/19/2014	B.Gilgus	8/19/2014 9:52	Approved	Completed
2	Final Fire Inspection	8/18/2014	B.Dean	8/18/2014 0:00	Approved	Completed
3	Framing	7/21/2014	D.Blackburn	7/21/2014 11:15	Approved	Completed
4	Final Electrical	8/18/2014	D.Rooney	8/18/2014 14:17	Approved	Completed
5	Final Electrical	8/15/2014	D.Rooney	8/15/2014 14:53	Correction	Completed

Number of Pald Inspections:	5	\$	150.00	\$750.00
Number of 1/2 Hour Inspections:	2.5	\$	75.00	-\$187.50
Number of Inspections Paid but not Completed:	0	-\$	150.00	\$0.00
		Total Refund:		-\$187.50

100	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Fire Inspection	9/24/2014	C.Torrey	9/24/2014 0:00	Approved	Completed
2	Final Fire Inspection	9/12/2014	T.Furch	9/12/2014 0:00	Correction	Completed
3	Final Structural	8/7/2014	D.Blackburn	8/7/2014 9:17	Approved	Completed
4	Final Structural	8/5/2014	D.Blackburn	8/5/2014 8:54	Correction	Completed
5	Other Structural	8/1/2014	D.Blackburn	8/1/2014 11:47	Partial	Completed
6	Framing	7/24/2014	D.Blackburn	7/24/2014 9:38	Approved	Completed
7	Electrical Rough	8/25/2014	O.Burbridge	8/25/2014 16:33	Approved	Completed
8	Electrical Rough	8/15/2014	D.Rooney	8/15/2014 14:45	Partial	Completed
9	Electrical Rough	8/7/2014	O.Burbridge	8/7/2014 11:38	Partial	Completed
.0	Electrical Rough	8/5/2014	D.Rooney	8/5/2014 14:16	Partial	Completed
1	Electrical Rough	8/4/2014	D.Rooney	8/4/2014 16:22	Cancel	Completed
.2	Electrical Rough	8/1/2014	D.Rooney	8/1/2014 10:55	Partial	Completed
.3	Electrical Rough	7/28/2014	O.Burbridge	7/28/2014 13:25	Partial	Completed

Number of Paid Inspections:	10	\$	150.00	\$1,500.00
Number of 1/2 Hour Inspections:	6.5	\$	75.00	-\$487.50
Number of Inspections Paid but not Completed:	-3	-\$	150.00	\$450.00
		Tota	al Refund:	-\$37.50

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Structural	5/19/2015	J.Stubbs	5/19/2015 14:00	Approved	Completed

Number of Paid Inspections:	1	\$	150.00	\$150.00
Number of 1/2 Hour Inspections:	0.5	\$	75.00	-\$37.50
Number of inspections Paid but not Completed:	. 0	-\$	150.00	\$0.00
		Tota	al Refund:	-\$37.50

	Inspection Type	Schedüled	Assigned To	Completed Date	Result	Status
1	Final Fire Inspection	9/25/2014	C.Torrey	9/25/2014 16:04	Approved	Completed
2	Final Structural	9/23/2014	J.Stubbs	9/23/2014 16:29	Approved	Completed
3	Framing	9/17/2014	J.Stubbs	9/17/2014 16:29	Partial	Completed
4	Final Electrical	9/25/2014	D.Rooney	9/25/2014 17:03	Approved	Completed
5	Final Electrical			9/25/2014 16:47	Approved	Completed
6	Final Electrical	9/24/2014	O.Burbridge	9/24/2014 10:59	Partial	Completed
7	Electrical Rough	9/17/2014	D.Rooney	9/17/2014 13:14	Partial	Completed
8	Final Mechanical	9/22/2014	J.Gadomski	9/22/2014 8:40	Approved	Completed

Number of Paid Inspections:	10	\$	150.00	\$1,500.00
Number of 1/2 Hour Inspections:	4	\$	75.00	-\$300.00
Number of Inspections Paid but not Completed:	2	-\$	150.00	-\$300.00
		Tota	al Refund:	-\$600.00

	Inspection Type	Schodulad	Assigned To	Completed Date	Result	Status
4			readined to			
- 1	Final Fire Inspection	4/2/2015		4/2/2015 11:45	Approved	Completed
2	Final Structural	3/2/2015	P.Calhoun	3/2/2015 12:50	Approved	Completed
3	FireStopping	2/10/2015	P.Calhoun	2/10/2015 13:24	Correction	Completed
4	Ceiling / Act	2/3/2015	D.Blackburn	2/3/2015 14:27	Partial	Completed
5	Framing	1/20/2015	P.Calhoun	1/20/2015 9:01	Approved	Completed
6	Framing	12/2/2014	P.Calhoun	12/2/2014 14:25	Partial	Completed
7	Framing	12/1/2014	P.Calhoun	12/1/2014 10:27	Partial	Completed
8	Framing	11/25/2014	P.Calhoun	11/25/2014 14:34	Partial	Completed
9	Final Electrical	3/27/2015	O.Burbridge	3/27/2015 14:07	Approved	Completed
10	Final Electrical	3/26/2015	O.Burbridge	3/26/2015 16:07	Partial	Completed
11	Electrical Rough	2/27/2015	O.Burbridge	2/27/2015 16:06	Partial	Completed
12	Electrical Rough	2/5/2015	D.Rooney	2/5/2015 17:10	Partial	Completed
13	Electrical Rough	1/27/2015	O.Burbridge	1/28/2015 8:46	Partial	Completed
14	Ceiling Rough Electrical	12/19/2014	O.Burbridge	12/19/2014 16:29	Partial	Completed
15	Electrical Rough	12/5/2014	V.Fosberg	12/5/2014 16:07	Partial	Completed
16	Electrical Rough	11/25/2014	V.Fosberg	11/25/2014 15:19	Partial	Completed
17	Final Mechanical	1/28/2015	J.Gadomski	1/29/2015 10:38	Approved	Completed
18	Final Mechanical	1/8/2015	J.Gadomski	1/8/2015 13:47	Partial	Completed
19	Final Plumbing	2/27/2015	C.Thompson	2/27/2015 14:54	Approved	Completed
20	Plumbing Rough	11/25/2014	J.Gadomski	11/25/2014 14:13	Partial	Completed

Number of Paid Inspections:	24	\$	150.00	\$3,600.00
Number of 1/2 Hour Inspections:	10	\$	75.00	-\$750.00
Number of Inspections Paid but not Completed:	4	-\$	150.00	-\$600.00
		Tota	al Refund:	-\$1,350.00

refunded 2

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Other Structural	12/12/2014	B.Gilgus	12/12/2014 13:59	Approved	Completed
2	Other Structural	10/10/2014	B.Gilgus	10/10/2014 10:27	Approved	Completed

Number of Paid Inspections:	7	\$	150.00	\$1,050.00
Number of 1/2 Hour Inspections:	2	\$	75.00	-\$150.00
Number of Inspections Paid but not Completed:	5	-\$	150.00	-\$750.00
		Tota	al Refund:	-\$900.00

Open Still E14-1830

ſ	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Structural	1/6/2015	J.Stubbs	1/6/2015 10:19	Approved	Completed
2[Final Fire Inspection	1/2/2015	C.Hill	1/2/2015 11:44	Approved	Completed
3	Other Structural	12/24/2014	J.Stubbs	12/24/2014 9:53	Partial	Completed
4[Final Structural	12/22/2014	J.Stubbs	12/22/2014 10:28	Partial	Completed
5	Other Structural	12/19/2014	J.Stubbs	12/19/2014 12:03	Partial	Completed
6	Final Structural	12/16/2014	J.Stubbs	12/16/2014 11:30	Partial	Completed
7[Other Structural	12/12/2014	J.Stubbs	12/15/2014 10:11	Partial	Completed
8	Other Structural	12/9/2014	J.Stubbs	12/9/2014 15:02	Partial	Completed
9	Framing	12/4/2014	J.Stubbs	12/4/2014 14:47	Partial	Completed
10	Final Electrical	1/6/2015	O.Burbridge	1/6/2015 14:33	Approved	Completed
11	Final Electrical	12/30/2014	M.Green	12/30/2014 15:35	Correction	Completed
12	Final Electrical	12/22/2014	M.Green	12/22/2014 9:42	Partial	Completed
13	Final Electrical	12/19/2014	M.Green	12/19/2014 12:28	Partial	Completed
14	Final Electrical	12/17/2014	M.Green	12/17/2014 10:11	Partial	Completed
15	Ceiling Rough Electrical	12/16/2014	M.Green	12/16/2014 17:10	Correction	Completed
16	Electrical Rough	12/4/2014	D.Rooney	12/4/2014 15:39	Partial	Completed
17	Final Mechanical	12/15/2014	Y.Dovba	12/15/2014 8:10	Approved	Completed
18	Mechanical Rough	11/14/2014	J.Gadomski	11/17/2014 15:07	Partial	Completed
19	Final Plumbing	12/31/2014	Y.Dovba	12/31/2014 9:02	Approved	Completed
20	Final Plumbing	11/18/2014	Y.Dovba	11/18/2014 15:44	Partial	Completed

Number of Paid Inspections:	26	\$	150.00	\$3,900.00
Number of 1/2 Hour Inspections:	10	\$	75.00	-\$750.00
Number of Inspections Paid but not Completed:	6	-\$	150.00	-\$900.00
		Tot	al Refund:	-\$1,650.00

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Fire Inspection	4/15/2015	B.Dean	4/15/2015 13:56	Approved	Completed
2	Final Structural	4/15/2015	B.Gilgus	4/15/2015 9:49	Approved	Completed
3	Framing	12/18/2014	P.Calhoun	12/18/2014 15:44	Approved	Completed
4	Framing	12/17/2014	P.Calhoun	12/17/2014 11:04	Correction	Completed
5	Final Structural	12/18/2014	P.Calhoun	12/16/2014 10:34	Correction	Completed
6	Final Electrical	1/15/2015	O.Burbridge	1/15/2015 10:49	Approved	Completed
7	Electrical Rough	12/15/2014	O.Burbridge	12/15/2014 13:17	Partial	Completed

Number of Paid Inspections:	7	\$	150.00	\$1,050.00
Number of 1/2 Hour Inspections:	3.5	\$	75.00	-\$262.50
Number of Inspections Paid but not Completed:	0	-\$	150.00	\$0.00
		Tota	al Refund:	-\$262.50

	inspection Type	Scheduled	Assigned To	Completed Date	Result	Status			
1	Ceiling / Act		G.Stuller	3/19/2015 7:53	NA	Completed			
2	Final Fire Inspection		G.Stuller	3/19/2015 7:53	NA	Completed			
3	FireStopping		G.Stuller	3/19/2015 7:53	NA	Completed			
4	Concrete Floor		G.Stuller	3/19/2015 7:53	NA	Completed			
5	Steel Bolting / Welding		G.Stuller	3/19/2015 7:53	NA	Completed			
6	Seismic Bracing		G.Stuller	3/19/2015 7:53	NA	Completed			
7	Metal Pan Decking		G.Stuller	3/19/2015 7:53	NA	Completed			
8	Other Structural		G.Stuller	3/19/2015 7:53	NA	Completed			
9	Insulation / Vapor Barrier		G.Stuller	3/19/2015 7:53	NA	Completed			
10	S.A.Fireproofing		G.Stuller	3/19/2015 7:53	NA	Completed			
11	Ceiling / Act		G.Stuller	3/19/2015 7:53	NA	Completed			
12	Final Structural	2/10/2015	P.Calhoun	2/10/2015 13:22	Approved	Completed			
13	Final Fire Inspection	2/10/2015	B.Dean	2/10/2015 7:49	Approved	Completed			
14	FireStopping	1/20/2015	P.Calhoun	1/20/2015 8:58	Approved	Completed			
15	Final Fire Inspection	1/16/2015	C.Torrey	1/16/2015 11:42	Partial	Completed			
16	FireStopping	1/15/2015	P.Calhoun	1/15/2015 13:48	Correction	Completed			
17	Ceiling / Act	1/9/2015	P.Calhoun	1/9/2015 14:34	Partial	Completed			
18	Ceiling / Act	1/8/2015	P.Calhoun	1/8/2015 13:51	Correction	Completed			
19	FireStopping	12/31/2014	P.Calhoun	12/31/2014 13:48	Partial	Completed			
20	S.A.Fireproofing	12/29/2014	P.Calhoun	12/29/2014 11:19	Correction	Completed			
21	Framing	12/16/2014	P.Calhoun	12/16/2014 12:47	Partial	Completed			
22	Final Mechanical	1/13/2015	J.Gadomski	1/13/2015 8:35	Approved	Completed			
23	Final Mechanical	1/8/2015	J.Gadomski	1/8/2015 13:50	Partial	Completed			
24	Final Plumbing	2/6/2015	J.Gadomski	2/6/2015 10:00	Approved	Completed			
	Final Plumbing	1/13/2015	J.Gadomski	1/13/2015 8:32	Partial	Completed			
25	Plumbing Rough	12/18/2014	J.Gadomski	12/18/2014 8:04	Partial	Completed			
26	Final Electrical	3/5/2015	D.Rooney	3/5/2015 10:28	Approved	Completed			
27	Final Electrical	2/17/2015	D.Rooney	2/17/2015 12:09	Partial	Completed			
28	Electrical Rough	1/15/2015	O.Burbridge	1/15/2015 15:35	Partial	Completed			
29	Electrical Rough	1/9/2015	O.Burbridge	1/9/2015 16:02	Partial	Completed			
30	Electrical Rough	1/8/2015	O.Burbridge	1/8/2015 16:17	Partial	Completed			
31	Electrical Rough	12/23/2014	V.Fosberg	12/23/2014 15:25	Partial	Completed			
32	Electrical Rough	12/17/2014	O.Burbridge	12/17/2014 10:35	Partial	Completed			

Number of Paid Inspections:	27	\$	150.00	\$4,050.00
Number of 1/2 Hour Inspections:	16	\$	75.00	-\$1,200.00
Number of Inspections Paid but not Completed:	-5	-\$	150.00	\$750.00
		Tota	i Refund:	-\$450.00